it  E

tEMANRT Y FR—ILiE .
R&=E#HB  F1L090-8346-5272

FAELEEZBUI2ZNNR vy FAR—ILKEEBF

[1BB)] tETHERKRBE
B B Aad—F Ba—
k(B - FHEG) -
1] 9:30~ 5
16 - 21 -
27 11— 23 44 ~
- 9B - FHEE)
210 : 45~ %
- 20 - 14
~ 38 18 - 13 217
FHEER) - HEEER) -
3[12: 00~ %
11 - 30 -
24 13 - 30 60 ~
- FHEM®ZR - RWE )
4{13: 15~ 8
- 26 - 0
_ 52 % - 0 0
[1HH)] tETHBEATE
¥ B ca—+F Da— b
FRER (Z) - TE @& =
1 9:30~ i
38 - 0 -
™ g - 4 f -
- e (Z) - BB (%)
2(10: 45~ 8
- 2 - 55
~ 19 17 - 30 85
HEE (X)) - HEEE (X) -
3/112: 00~ Loy o -
22 19 - 15 24 _
- alE () - F=iE (&)
4{13: 15~ g8
- 12 - 22
~ 32 20 - 98 50




FAEILERUVI2ZNNR Ty FAR—ILKEERWF
[2EH) tERHHBHEE

B B Ad—Fh Ba—
wWE(B) - $EEEE) -
1] 9:30~ 5
23 - 21 -
55 5, _ g 2 _
- HFEE) - E=EBE)
210 : 45~ 5
- 10 - 30
_ 29 19 - 30 60
FE(E) - &S -
3[12: 00~ %
28 - 15 -
43 15 — 95 40 _
- tEE) - FEBE)
4{13: 15~ =]
- 23 - 15
_ 50 97 - 12 217
FEZ - FE& -
5(14:30~ 8
25 - 11 -
50 o5 — 16 27 ~
- FHE(Z) - BN (XR)
6([15: 45~ 8
- 4 - 45
_ 14 10 - 29 14




FAEILERUVI2ZNNR Ty FAR—ILKEERWF
[3HH) tRhTBHkEE

B B Ad—Fh Ba—
R HE R
1l 9:00~ + hREE - L] = FE - M
6 - 24 11 - 15
14 Y 46 36 25 — 10 25
2|10: 15~ =
BB 3 R TEE
3/11: 15~ &« L= - =)= hEEE - M
15 - 16 13 - 26
31 16 - 16 32 28 5 _ 18 44
12: 15~ Z ¥+ B & A
HER % HER B
4113 : 30~ ] P - EED tE - HEE
18 - 12 21 - 27
36 18 - 16 28 33 19— 17 44
5|14 : 45~ B
R 3 {30 3R 7 Bk
6115 : 45~ | =) =2 - HEE EER - +tE
18 - 13 28 - 20
35 17 - 91 34 46 18 - 35 b5
16 : 45~ B F B £ #®

FERFDHAE




FAELEEZBUI2ZNNR vy FAR—ILKEEBF

<B¥>

2R hEI=N\RTy bR—ILY ST
HB HEEEE—k

5 3 fiL tEIILEKEYY

%44 TIIZNRT Y PAR—ILEE
<&ZF>

12 15 RFEI=NRTy bR—LYST
HBB WELY F41—YJ LR

534 BN YILRE—X

F a4 REEEIZN\RTY FR—ILIFT




